N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy N of associated (recoToSim) tracks vs dxy

g 2 2 9
S S S I+
g g g g
g £ 5 g
E k| g
a
=]
3
°
3
@ [ 2
: 1 : (X RT PR SRRTIEES || I ERRESEFEPE N
Il M .
0¥)520-15-10 -5 0 5 10 15 20 25 0995-20-15-10 -5 0 5 10 15 20 25 0= 30-15-10 5 0 & 10 15 20 25 OBE—dsTiETie TS 0 510 15 3025
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 2 9
S [ S S 51
g g g g
[} (0] Q
B 3 g
=
10° 3
o ) o
: E W :
24 o 14
093550 100 10 20 30 050 —20 —10 10 20 30 o 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


